@ Meguro Language Center

JLPT N4 Kanji Quiz — 04/34 Answer

R 1 SRR HE7Y7IIE 17580 T,

(1) k4 1 <Bhi 2 WAk 3 Xxohi 4 ZXxrhh
(2) HE§ 1 2k 2 LA 3 LM 4 LA
(3) 17< 1 %< 2 < 3 1< 4 BL

fl2 BHIE 275 DSHT SAHLTHET,

1 %5 1 7ehiz 2 RN 3 WIIED 4 PINT
(2) LI%k 1 WEE 2 W9 3 VAN 4 NTpU
(3) 4 1 #&TAH 2 %&7T 3 BT 4 DWW LwD

M3 Halwdld ICLDLAFALL ~AZIHLEEATLE, 5L S5ATT,

(1) ®Alwd 1 JeiA 2 A4 3 A 4 A
(2) lZLh AT 1 R 2 THRRE 3 TR CE 4 TR
(3) SLwirsA N 2 K+4 3 A+ 4 K+45y

B4 2hiE KBAZO BYFATTN. Zhih BOLNITT,

(D) ZizAZ 1 HAGE 2 ARG 3 AAGE 4 HAGE
2) 1FHFA 1 & 2 JzE 3 5= 4 J5zE
@) BBNI 1SR 2 ST 3 SRk 4 A

5 AEE AED EITTD. Thib, DEVTTD,

(1) H¥ 1 A 2 3 5 4 1E
(2) 139 1 5 2 3 & 4 K

(3) V=D 1 f 2 I 3 & 4 17



